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RRC Level-1 Exam. Model Practice Set
Answers with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (c) „,þ¡Œéôé“%þD¦þoyîû ”!Çþöì’ ¦þyîûöì“þîû ”!Çþ’“þ› x‚Ÿ!Ýþöì„þ îœy
£ëû ¢%”)îû ”!Çþ’Ð

2. (d) x!“þ!îû_ « àþyuþyë û î¢îy¢„þyî û # ¦þy£ zî ûy¢ö ì„ þ îö ìœ
e«yöìëûy!šþ!œ„þÐ

3. (b) …îöìîûîû „þy†öì‹îû ¢öìD ¢Á™„Å ë%_« £œ ¢Á™y”„þ– ~„þ£z
îû„þ›¦þyöìî ¢öìÁ¿œöì̃ îû ¢öìD ¢Á™„Åþë%_« £œ ö‰þëûyîû›Äy˜Ð

4. (c) RBC ö„þ ”y˜y î¤y•öì“þ £z˜šÏ$þöìëûOy ¦þy£zîûyöì¢ î“Åþ›y˜
!£›y@Õ%!Ýþ!˜˜ ö²Ìy!Ýþ˜ ¢£yëû“þy „þöìîûÐ

5. (d) “þöìíÄîû x!•„þyîû xy£z̃  (Right to Information Act)
2005þ ¢yöìœ ™y¢ £ëûÐ

6. (d) !šþëûöìvÅþîû ö”Ÿ îœy £ëû ˜îûçöìëûöì„þÐ
7. (b) ò!£öìÞÝþyöì‹˜ “þ_ó́éôé~îû ²Ìî_«y £öìœ˜ £Äy˜öìÞÝþ˜Ð
8. (a) Ÿ· myîûy îy„þÄ †!àþ“þ £ëû– ö“þ›˜ š%þœ !”öìëû ö“þyvþüy †!àþ“þ £ëûÐ
9. (a) š%þöìœîû ö†yvþüyöì„þ þ™%Ü™yÇþ îœy £ëûÐ
10. (a) þþ™“þöìDîû ›y•Äöì› þ™îûy†öìëy†öì„þ îöìœ ~˜öìÝþyöì›y!šþ!œÐ
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12. (b) Sweet and hot – @  #  %
Coffee  is   –        +Sweet % £
tea  is  hot –     @   £c

Coffee is hot – £ @ +
13. (a) !˜öì¡ì„þ ²Ì!e«ëûy Šéyvþüy šþœ †àþ˜öì„þ þ™yöìíÅöì̃ y„þy!þ™Å îœy £ëûÐ
14. (c) ¦þyîûöì“þîû 1 Ýþy„þyîû ö˜yöìÝþ xíÅ ›sþföì„þîû ¢!‰þöìîîû ¢£z Šéyþ™y

£ëûÐ
15. (d) hßþ˜Äþ™yëû#öì”îû £Äy¦þyîû!¢ëûy˜ “þsþf „þBþyœ “þöìsþfîû xhsþ†Å“þÐ

16. (b) îy!vþü

5 !„þ!›

10 !„þ!›10 !„þ!›

10 !„þ!›

 ~…˜ ö¢ “þyîû Öîû& !î¨% öíöì„þ þ™!Øþ› !”öì„þ xyöìŠéÐ

17. (d) x y z z x y z z x y z z x y z z z y x z z
18. (d) £*”öìþ™!Ÿ £œ x÷ì̃ !FŠé„þ ~î‚ ¢öìîû… öþ™!ŸÐ
19. (d) @ùÌ!sþiîû Çþîû’ ë…˜ ¢îûy¢!îû îûöì_« ö›öìŸ “þ…˜ “þyöì„þ îöìœ

~öìuþy!e«˜ @ùÌ!sþiÐ
(20–21) :

F–


C   A  + B+  + –


E   D– +

20. (d) F, A ~îû ›y £ëûÐ
21. (b) F, C ~îû ›y £ëûÐ
22. (b) 1831 !…ÊÞÝþyöì· îûîyÝÅþ îÊyvþz̃  xy!îÜñyîû „þöìîû̃  !˜vþz!„Ïþëûy¢Ð
23. (a) !îöìÙ»îû vþzF‰þ“þ› ›)!“þÅ òÞÝþÄy‰%þ xšþ £zvþz!˜!Ýþó þ™!îû„þÒ˜y „þöìîûöìŠé˜

¦þyßþñëÅ !ŸÒ# îûy› !¦þ ¢%“þyîûÐ
24. (a) þ'Natural History' @ùÌsþi!Ýþîû îû‰þ!ëû“þy !Šéöìœ˜ !²Õ!˜Ð
25. (d) 6 ~îû þ™îûî“Åþ# ¢‚…Äy 7

 72 – 4 = 45
5 ~îû þ™îûî“Åþ# ¢‚…Äy 6
 62 – 4 = 32

26. (b) 0.2 mol ö¢y!vþëûy› îy£z„þyöìî Åyöì˜Ýþöì„þ vþz_® „þîûöìœ
0.1 mol ö›yœ ö¢y!vþëûy› „þyîÅöì̃ Ýþ ÷“þ!îû £öìîÐ

27. (c) ~„þ!Ýþ †Äy¢ !›×öì’ x!:öì‹˜ ~î‚ ˜y£zöìÝþÆyöì‹öì̃ îû ¦þöìîûîû
x˜%þ™y“þ 1 : 4 “þyöì”îû x’%îû ¢‚…Äyîû x˜%þ™y“þ £œ 7 : 32

28. (c) 41 43 47 55 71

2 4 8 16

×2 ×2 ×2
29. (c)
30. (a) ¦þîû ¢‚…Äy ¢›y˜ £öìœ ö¢!Ýþ xy£zöì¢yîyîûÐ þ™yîû›y’!î„þ ¢‚…Äy

¢›y˜ £öìœ ö¢!Ýþ xy£zöì¢yöìÝþyþ™ ~î‚ !˜vþzÝþÆ̃  ¢‚…Äy ¢›y˜
£öìœ˜ ö¢!Ýþ xy£zöì¢yöìÝþy˜ £ëûÐ

31. (c) þ¢%œ“þy˜ ›£Á¿” !î˜ “%þ‡œ„þ “¤þyîû ¢yÁËyöì‹Äîû îûy‹•y˜# !”!ÍÔ
öíöì„þ ö”î!†!îûöì“þ ßþiy˜yhsþ!îû“þ „þöìîû!Šéöìœ˜Ð

32. (a) þ™îû›y’%îû !˜vþz!„Ïþëûyîû “þ_ ́ xy!îÜñyîû „þöìîû̃  îûy”yîûöìšþyvÅþÐ
33. (b)
34. (c)
35. (b) îû*þ™y £œ •y“þî !e«ÞÝþyœ þ™”yíÅÐ
36. (b) (P = xy¢œ– R = ¢%öì”îû £yîû– T = îŠéîûV

RTP 1 2P
100

   
 
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

7R1 2
100

 

7R 2 1
100

 

100R
7



~…˜– RTP 1 4P
100

   
 

100T1 4
7 100

 


T 4 1
7
 

T = 3 × 7 = 21
 21 îŠéöìîû ‰þyîû=’ £öìîÐ

37. (a) “þy!›œ˜yvþYîû ö„þyöìëûÁºyöìÝþyîûöì„þ îœy £ëû ”!Çþ’ ¦þyîûöì“þîû
›ÄyöìMþéÞÝþyîûÐ

38. (c) OPECéîy x†Åy˜y£zöì‹Ÿ˜ xšþ ”Ä öþ™öìÝþÆy!œëûy› ~:öìþ™y!ÝÅþ‚
„þy!rÝþÆöì‹îû ¢”îû ”®îû !¦þöìëû̃ yöì“þ xî!ßþi“þÐ

39. (c) (P = xy¢œ– R = ¢%öì”îû £yîû– t = ¢›ëûV

 !˜öì’Åëû ¢%”éôéxy¢œ 
4 tRP 1

400
   
 

94
122016000 1

400


   
 

3116000 1
20

   
 

32116000
20

   
 

926116000 18522
8000

   Ýþy„þy

 !˜öì’Åëû ¢%” = 18522 – 16000 = 2522 Ýþy„þy

40. (a) ¢yw“þyîû vþzþ™îû vþz¡Œ“þyîû ²Ì¦þyî îÄy…Äy „þîûöì“þ öë “þöì_î́û
²Ìöìëûy‹˜ ö¢!Ýþ £œ xyîûöì£!˜ëûy¢ “þ_Ð́

41. (a) ö„þyœöìëûvþöì„þ xy•y˜ ›%_« „þîûöì“þ îÄî£*“þ £ëû “þ!vþüê!îöìÙÕ¡ìÄÐ
42. (c) „þî%!œëû“þ ç þ™yRy²Ìíy ‰þyœ% „þöìîû!Šéöìœ˜ öŸîûŸy£Ð

43. (a) îûÁºöì¢îû öÇþešþœ = 
1
2 × 20 × 24 = 240 î†Åöì¢!›

44. (d)
A 3 B 5 C 8, ,
B 4 C 7 D 9
  

A B C 3 5 8
B C D 4 7 9
    

A 10
D 21


A : D = 10 : 21
45. (c) „þvþ !œ¦þyîû ö“þœ £œ ö“þöìœ ‹öìœîû !îhß+þ“þ ”ŸyÐ
46. (c)
47. (b) ›)öìœÄîû x˜%þ™y“þ = 1 Ýþy„þy ­ 50 þ™ëû¢y = 3 : 5

¢‚…Äyîû x˜%þ™y“þ = 3 : 10

 1 Ýþy„þyîû ›%oy 
3 52 12

3 10
  


!Ýþ

48. (a)
3 15 3 19
7 2
 

49. (a) þ!¢!‹~¢ þ™kþ!“þöì“þ œ#˜“þyöìþ™îû ~„þ„þ £œé „þÄyöìœy!îû/@ùÌy›Ð
50. (a)

51. (c)  !î”%Äê !îœ 
100 54 360
15

    Ýþy„þyþ

52. (d) 36 ‹˜ Šéyöìeîû ö›yÝþ îëû¢ = 36 × 16 = 576 îŠéîû
!ŸÇþ„þ ›£yŸëû¢£ Šéyeöì”îû ö›yÝþ îëû¢ = 37 × 17 = 629
îŠéîû
 !ŸÇþöì„þîû îëû¢ = 629 – 576 = 53 îŠéîû

53. (b) xyhsþ‹Åy!“þ„þ îy ~¢xy£z þ™kþ!“þöì“þ “þyþ™›yeyöì„þ ö„þœ!¦þ˜
~„þöì„þ ²Ì„þyŸ „þîûy £ëûÐ

54. (c) ‘India's Economy from Nehru to Modi : A
Brief History’ î£z!Ýþîû öœ…„þ £öìœ˜ ¦þyîû“þ#ëû xíÅ̃ #!“þ!î”
™%œyöì²Ì îyœy„,þ¡Œy’Ð ~£z î£z!Ýþöì“þ !îÊ!ÝþŸ ¦þyîû“þ– ö˜öì£îû&îû
²Ì•y˜›sþf#öìc ¦þyîû“þ ~î‚ î“Åþ›yöì̃  ¦þyîûöì“þîû xíÅ̃ #!“þîû “þíÄ
“%þöìœ •îûy £öìëûöìŠéÐ

55. (b) ²Õy!ÞÝþ„þ î‹ÅÄ îÄîßþiyþ™˜yîû vþzöìjöìŸÄ xõÉþ²Ìöì”Ÿ îûy‹Ä ¢îû„þyîû
Parley for the Oceans ~îû ¢öìD ›vþz ßþºyÇþîû „þîûœÐ

56. (a) Šé!_Ÿ†öìvþüîû 29“þ› ö‹œyîû ßþº#„,þ!“þ x‹Å̃  „þîûœ ö›y£œyéôé
›y˜þ™%îûéôéxyîûy›îy† ö‰þï!„þÐ

57. (d) When the Heart Speaks :Memoirs of a
Cardiologist’ î£z!Ýþîû öœ…„þ £öìœ˜ vþzöìþ™w „þœÐ

58. (b) þ™¤y‰þ îŠéöìîûîû ‹˜Ä !Ÿ!þ™‚ „þöìþ™ÅyöìîûŸ˜ xšþ £z!uþëûyîû ö‰þëûyîû›Äy˜
ç ›Äyöì̃ !‹‚ !vþöìîûQîû !£¢yöìî !˜ë%_« £öìœ˜ !îöì̃ Ÿ „%þ›yîû
“þÄy†#Ð

59. (c) ~„þ!Ýþ !m“þ#ëû ö×!’îû !œ¦þyöìîûîû vþz”y£îû’ £œ ¢%þ™y!îû „þyÝþyîû
‹¤y!“þÐ

60. (d)  Ÿ“þ„þîûy œy¦þ
10 10 100 1100 100 11 %

100 10 90 9 9
     


61. (c) 2004 ¢yöìœîû ²Ìí› !”˜ Ÿ!˜îyîû £öìœ 2009 ¢yöìœîû 1

‹y˜%ëûy!îû Öe«îyîû £öìîÐ
62. (d) 1790 ¢yöìœ ›y£y”!‹ !¢!õþëûy ç îûy‹þ™%öì“þîû ›öì•Ä þ™yÝþöì̃ îû

ë%kþ ¢‚‡!Ýþ“þ £öìëû!ŠéœÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

63. (a) “þ!vþüê ²Ìîyöì£îû ~¢xy£z ~„þ„þ £œ xÄy!Á™ëûyîûÐ

64. (b) ßþiy˜ ”%!Ýþîû ›öì•Ä ”)îûc 
8 6 30 12
8 6 60


  


 !„þ!›Ð

65. (b)
66. (b) !˜Á¬!œ!…“þ !‰þe!Ýþöì“þ 13!Ýþ !e¦%þ‹ îûöìëûöìŠéÐ
67. (d) ‘N’ ˜y íy„þyîû „þyîûöì’ RAIN Ÿ·!Ýþ ÷“þ!îû „þîûy ëyöìî ˜yÐ
(68-70) :

E

C

A

BF

D

68. (a)
69. (c)
70. (b)

71. (b) 3 3 3 322 121 58 216  

3 3 322 121 58 6   

3 322 121 4  

3 22 5 3  

72. (c) •!îû– ¦þ@Ày‚Ÿ!Ýþ 
x
y

x 1
y 3 2




2x = y + 3
 2x – y = 3 ...(i)
x 2 1

y




x + 2 = y
 x – y = –2 ...(ii)
(i) – (ii) „þöìîû þ™y£z
x = 5, y = 7

 ¦þ@Ày‚Ÿ!Ýþ £œ
5
7



73. (d)
74. (b) A : B : C

1 1
6 6
 :

1 1
3 3
 :

1 1 11
6 3 2

    
 

1
36 :

1
9 :

1
4

1 : 4 : 9

 A þ™yöìî
17000 500

14
    Ýþy„þy

75. (b) •!îû– þ™)îÅ †vþü = x
 19“þ› £z!˜‚öì¢îû þ™îû ö›yÝþ îûy˜ = 19x
20“þ› £z!˜‚öì¢îû þ™îû ö›yÝþ îûy˜ = 19x + 110

¢%“þîûy‚– 
19x 110 x 4

20


 

19x + 110 = 20x + 80
20x – 19x = 110 – 80
 x = 30
 20“þ› £z!˜‚öì¢îû þ™îû “þyîû îûy˜ ¢‚…Äyîû †vþü = 30 +
4 = 34 îûy˜

76. (a) 15  A  12 
12  B  15 

180

 ÝþÄyBþ!Ýþ ‹œþ™)’Å £öìî 
180 2 360 40
15 12 27 3


  


113
3

  ‡^ùÝþy = 13 ‡^ùÝþy 1 60
3
  = 13 ‡^ùÝþy 20 !›!˜Ýþ

77. (c) ¢„þyœ 6Ýþy öíöì„þ 8Ýþy– ”%ó‡^ùÝþyëû A öÞÝþŸ˜ öŠéöìvþü öÝþÆ̃ !Ýþ
40 × 2 = 80 !„þ!› ëyöìî
îy!„þ ”)îûc = 360 – 80 = 280 !„þ!›
öÝþÆ̃  ”%!Ýþîû xyöìþ™!Çþ„þ †!“þöìî† = 40 + 60 = 100 !„þ!›/
‡^ùÝþy

 öÝþÆ̃  ”%!Ýþ !›!œ“þ £öìî 
280
100

  = 2 ‡^ùÝþy 48 !›!˜Ýþ þ™îû

 8 ‡^ùÝþy + 2 ‡^ùÝþy 48 !›!˜Ýþ = 10 ‡^ùÝþy 48 !›!˜öìÝþ öÝþÆ̃
”%!Ýþ !›!œ“þ £öìîÐ

78. (b) •!îû– “þyîû xyëû = 100 Ýþy„þy
¢Mþéëû = 10 Ýþy„þy
îÄëû = 90 Ýþy„þy

112 %
2

 î,!kþ þ™yîyîû šþöìœ “þyîû xyëû

1 25 225100 12 100
2 2 2

    

¢Mþéëû = 10 Ýþy„þy

 îÄëû 225 225 20 20510 102.50
2 2 2


     Ýþy„þy

 îÄëû î,!kþ öþ™öìëûöìŠé 
102.50 90 100

90


 

12.50 8100 13 %
90 9

  

79. (a) (P = xy¢œ– R = ¢%öì”îû £yîû– t = ¢›ëûV

 !˜öì’Åëû xy¢œ 
2tR PRtP 1 P 36

200 100
       

   

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

——————

212 PRtP 1 P 36
200 100

       
   

212 PRtP 1 1 36
200 100

          
     

3 3 P 12 tP 1 1 1 1 36
50 50 100

                

3 103 12PP 36
50 50 100

      

309P 12P 36
2500 100

 

9P 36
2500



 P = 10,000 Ýþy„þy

80. (d) 2sin cos
cos sin

     
22 2

2 2

sin cos 1
sin cos sin cos

       
81. (b)
82. (c)

83. (c)  þ™öìîûîû ~„þ ¢®yöì£ „þîûöìî 828 28
7

  

= 32 – 28 = 4 ‹˜ öœy„þ „þy‹ öŸ¡ì „þîûöìîÐ
84. (a) •!îû– !e¦%þ‹!Ýþîû îyýîû ÷”‡ÅÄ = a

 þ™!îûî,_ 
a
3



2
a 27
3

 
   

 
2a 27

3


 a = 9

 ¢›îyý !e¦%þöì‹îû öÇþešþœ

= 23 81 39
4 4
   î†Åöì¢!›

85. (a) £z̃ šÏ$þöìëûOy £œ ¦þy£zîûy¢‡!Ýþ“þ öîûy†Ð îy!„þ=!œ !¦þÝþy!›öì̃ îû
x¦þyî‹!˜“þ öîûy†Ð

86. (b)
87. (c)
88. (b) ˜“%þ˜ !”!ÍÔîû òîûy‹þ™íó ç òö¢rÝþÆyœ !¦þhßþy œöì̃ îûó ˜y›

þ™!îûî“Åþ˜ „þöìîû ö„þw#ëû ¢îû„þyîû „þ“ÅþîÄ þ™í ˜y› îûy…öì“þ
‰þöìœöìŠéÐ

89. (b) ¢y!îÅëûyîû ˜“%þ˜ ²Ì•y˜›sþf# !£¢yöìî !m“þ#ëûîyöìîûîû ‹˜Ä xy˜y
!î˜Åy!î„þöì„þ ›öì̃ y˜#“þ „þîûy £œÐ

(90-94) :
C F G H B E D A

90. (a)
91. (c)
92. (b)
93. (b)
94. (c)
95. (b) £zrÝþyîû˜ÄyŸ˜yœ ö„þyöì„þy˜yÝþ „þ!›vþz!˜!Ýþîû “þîûšþ öíöì„þ 2

ö¢öì²WzÁºîû ¢yîûy !îÙ»‹%öìvþü þ™y!œ“þ £œ 14“þ› çëûyÓÅþ
ö„þyöì„þy˜yÝþ övþÐ ëyîû ~îŠéöìîûîû !í›éôô Cultivate Coconut
For A Happy Life and Future.

96. (c) x¢öì›îû ˜“%þ˜ ›%…Ä ¢!‰þî !£¢yöìî þ™î˜ „%þ›yîû îîûàþy„%þîûöì„þ
!˜ë%_« „þîûy £œÐ !“þ!˜ !‹¡%Œ îîû&ëûyîû ßþiœy!¦þ!¡ì_« £öìœ˜Ð

97. (b) ‘Uppercase’ ˜y›„þ ¢‚ßþiyîû !îþ™’˜ ”)“þ !£¢yöìî ¦þyîû“þ#ëû
!e«öì„þÝþyîû ‹¢²Ì#“þ î%›îûy£öì„þ !˜ë%_« „þîûy £œÐ

98. (b) FOX = 
6 15 24

3
 

 = 15

RAT 18 1 20
3

 
  = 13

CAT 
3 1 20

3
 

  = 8

99. (b) ¢y”y
100. (a) 45 – 15 + 3 ÷ 5 × 4

= 45 ÷ 15 × 3 + 5 – 4
= 3 × 3 + 5 – 4 = 10

xÄy!‰þ¦þy¢Å


